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K PID efficiency on (0-1)GeV/c at 15°, 45°, 85°
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Kaon PID Efficiency at 45 °©
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pi PID efficiency on (0-1)GeV/c at 15°, 45°, 85°

Pion PID Efficiency at 15°
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Pion PID Efficiency at 45°
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EcalBarrelContributionCollection.PDé = 22, 11, 11', 22, 22,11, 22,11, 2112, ﬁ112, 2112, 2112, 2112, 2112, 21
12, 2112, 2112, 2112, 2112, 2112

Kaon PID Efficiency at 85 °
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P PID efficiency on (0-1)GeV/c at 15°, 45°, 85°

Proton PID Efficiency at 15°
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Proton PID Efficiency at 45°
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Proton PID Efficiency at 85°
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Gaussian 1 (p=-2, o=1)
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The figure of merit which has to be optimized is not the
resolution but the particle scparation power between two
particle species A and B defined as:

; separation
separation power = —P——
resolution

_ dE/dx(A) -- dE/dx(B)
- o(dE/dx)asn

(3)

where o(dE/dx) ap is the average dE/dx resolution for the
two particle species.
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separation power ~S*g distribution
Efficiency~erf(sxa/sqrt (2))




